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Read the inshructions carefully and draw circles to showThe answet.

(2 marks)
1. Divide 24 sirawberries info groups of 3.
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3. Form a muitiplication sentence and a division sentence based on the

picfu_res shown below.
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a) — X 2 = _ {1 mark)

b) T s = (1 mark)

 Fillinthe bianks,ﬁﬂh the cormrect answers. (1 mark each)

4., 12 =2 =

5 27 =3= _ -




Eilt in the blanks with the correct answers. {2 marks each)
7. 35 +56= -3
8. |am thinking of two numbers.

Their'sum is 9 and the bigger number can be divided by 4.

What are the two numbers?

The iwo numbers are . and
9. ‘}a'q
< pox 3 = 12
S
B VS -
L& x5 =17

The missing humber in the box is

10. 2 bags of grapes cost $8 at a supermarket.
Mother wishes o buy 4 bags of grapes.

How much does she need 1o pay for the gropes’?

(2 bags of grapes: @

Mother needs to pay $. for 4 bags of grapes.
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Read each story sum carefully.
Write your working sleps in the blanks provided,
The marks are shown in the brackels c;i the end of each question or part

question. (15 marks)

1. Google hiad 45 muffins.
He packed 5 muffins into each box.

How many boxes did he use in all?-

He used __ boxes in all. {2 marks)

12.  Johnused 4 pails of water to fill a tub.
How many tubs could he fill with 32 pais of water?

He could fill tubs. {2 marks)




13.  Mariia wanis 1o buy 21 apples.
The apples are sold in packs of 3.
[} How many packs of apples does she need to buy?
{b} If each pack of apples cost $2, how much does she pay for all

the apples?

{(0) She needs o buy- packs of apples. (2 marks)

(b} She pays $ | for ali the dpples. (2 marks)




14.  Samformed some shapes as shown below using ice-cream sticks of

equal length,

{a) Write down thé number of ice-cream sticks needed fo make

each of the shapes below. {2 marks) ~

A L

triangle square rectangle

{a) __sticks ._sticks . . sficks

{b) Sam chose one of the shapes above and formed 4 of this |
shape using 16 ice-cream sticks. Which shape did Sam form?

Circle the correct answer. (1 mark)

b} Sam formed { friangles 'Squares , reciangles }.




15. Al has 40 sweels. s
He gives them away to some pupils.
{a) If each pupil gets 4 sweets, how many pupils are there?

(b} I there are 5 pupils, how many sweets will each pupil get?

_{a) There are  puplls. {2 marks)

{b} Each pupil will get sweeis. {2 marks)

Have you checked your work? ©
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